TSI =2 U > 7 AR ST — &

[7]1 7 e VT VR JEE (pg/g-dry)
AHAAEIE 1 2006

MR (A~ —R)
Bt sE (iR~ —2)

: 64/64 (K% - 0)
:192/192 (K% : 0)

R IRAE « 2%%3
TE R T IRAE « 3%0%9

T=HVT

4T (POPs . "HCHZH)

JEEL

SEEHE
(pg/g-dry)

BTN

340

R fiE

290

R NE

40,000

R/ ME

9

5 s SR A

Hi R
B

A R

I E
(pg/g-dry)

AtifgiE

—_

R NEARPRAE  (GEERNAT)

50

w RS

30

50

[N}

FBEINT3° 5 ARG (B IRTH)

12

11

34

FHF)IT A AR 4G CR SR

460

560

220

N

61

44

120

W

+ =

190

180

180

BRI (&)

34

130

1,200

B

~

BE (&)

94

84

120

k=Xt

o0

AR IRHRIAG (A5 1)

85

39

49

J\ER T

84

110

13

BN E (R

190

170

260

N T

230

240

210

FIRRJINAT A 2> b 60 KNG (Rds )

530

460

210

HI (0 )

590

460

300

i - il i

1,700

230

1,800

RO (FHET)

9,900

11,000

34,000

ST QLX)

7,500

7,000

7,800

REE I A ()

16,000

13,000

16,000

eI

LRI

990

1,700

870

I i fi

SR 0 (1)

9,500

5,500

4,000

20

)1 s P46 5 955 ]

1,300

2,200

1,100




TR ISAEREE = 4 U o 7 BB 7 — 4

T=HVT

4T (POPs . "HCHZH)

JEEL

T

1,

2 A

5 SR A

Q[0 ]

I 7E
[pg/g-dry]

R R 2

—_

BERINITH CHrig)

820

w | EE

48

42

LR 22| Ao 1] AR (R L)

160

230

110

1)1 I 23BN E (& 3R)

5,000

390

970

P 24|E D) = B5hE (U T)

90

52

74

HIZ IR 25| TRKAE (R

33

110

60

EoF IR 26 |FREA IO

890

810

680

fife ] Ui 27|i K

130

140

140

28| K#)I (BEHT)

10

11

5 IR 29[k

290

290

300

30|14 i B HE

290

290

280

=HR 31(mM B gk

310

360

580

2B

120

140

47

¥
T

o
m

33| FEREIF L B e g

1,700

1,200

1,400

34| FEEE I Iy o b o

410

500

490

I 35 (=

38

33

54

AR 36|KEJIE ATt CRAR )

260

390

250

PN 37\ RFA)IR A (i)

18,000

18,000

16,000

PN 38 (KB

7,700

7,200

5,200

39 (KB s+

290

330

290

40\FENIFT E - (RB T

6,100

8,000

8,100

4

uy

N OB

12,000

11,000

8,600

S R 42 | s

1,300

510

340

EUiD=Niv 43 (= Pk rp e

500

340

580




SIS E T =2 ) o T HRE SRR s T — & F=XYL S 4 (POPs ) OHCHAE)  EE
- T
P A = = T E A
TN | g AL 5 (pg/e-dry] f;
HER A4 FJI (FESFRT) 2,700 3
2,900
560
sk LR A5k I A AL JIKAE  (Fadgk i) 880 3
410
170
fi] Ly VR 46 (7K & 66 3
64
388
S 155 W 47 (S8 380 3
500
370
A8 (IR i 430 3
440
320
INE)S 49 f LI 160 3
180
160
50| =P 190 3
180
170
51|#kdh 27 3
23
24
TR U 2| O () 19 3
17
4]
LY 53| ERAHE 27,000 3
6,900
4,600
R I 54|35 E e EE 25 3
28
24
1R B 555 )i e (5 ) 130 3
120
710
e 56 |V 690 3
670
860
& i o7 e 290 3
290
260
P R 58|t T B 150 3
140
140
IR IR 59| RAF 320 3
130
550
Koy I 60 (K431 A (K43Th) 56 3
350
130
iy Uk S ESHINTENG D) 19 3
21
24
EGRST 62Kkl (#£ AHT) 520 3
43
38
63| K HN T HAE (W6 & AR ) 520 3
170
180
PR IR 64| IRk 9,000 3
14,000
40,000

GED B FREM E2fit & L,
WEZ L OERRHEITREO G L LT,

(E2)XITFEY



